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Ordered versus typical state: e?% states in total

a typical state: the
energy is still, £ = 100 A
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JOUle ExpaﬂS|Oﬂ The gas is initially all on the left. When the valve is openned the gas rushes to fill
the right hand side of the container.
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If there is more than one reservoir then we should generalize ASy,s > Q/T.

Say there are multiple reservoirs at temperature 17, Ts, ... TN with heat trans-
fers to the system @1, D2, ...Qn. Then the appropriate generalization is
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Sometimes this las expression is sometimes written
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But, I find the discrete case easier to interpret



